
1. There are 10 balloons in a packet. Anna needs 
40 balloons. How many packets does Anna need?

2. Here are some numbers, circle the even numbers:
17  31  32  67  82  92  10  13  101  89

3. Sam works out the answer to this
56 – 19 = ?

Sam gets the answer 21. Sam’s answer is wrong. Show Sam how 
to work out the correct answer in the box. 

Reasoning

Grammar and punctuation

5. 14 children are on the train. 
6 children get off. 

Then 5 more children get off.
Write the amount of children left on the train.

34     +      29       =    47

62 - 31       =   91

11   +   11  +   11  =   60 

31 - 10   - 20  =  

¼  of 16   = 

½  of  18  =  

5 X       5 =  80

30    ÷ 3 =  4      

Spellings

Arithmetic

1. board
2. tick
3. window
4. desk
5. bag

4. Look at the bar chart below. 

1. Circle the correct verbs so that the sentence is in the  
past tense.

The sun is/was shining and Mia  played/plays in the 
garden. 

2. Which sentence uses an apostrophe 
correctly?  

 Sara’s bag is red and has lots of pockets.
 Saras’ bag is red and has lots of pockets.
 Saras bag is red and has lot’s of pockets.
 Saras bag is red and has lots of pocket’s.
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How many people ate cheese and onion?

____________________________
Which two flavours add up to 12? 

____________________________
Which is the most popular flavour?

____________________________
Which the least popular flavour?

____________________________


